L Atz v

(2) 60.208

(1) 38.064




2. &
S AR A 22799 S o

A
25 S A2 AR

D4@307@5® 9YYct




O 5 27171 22 718 AR o] 52 AL ol AU
@ (1.040 , 1.40) @ (0.004 , 0.04)
@(48.50 , 48.5) @ (0.101,0.110)

® (0.112,0.211)

Aol A gl 242 02 o] 7Hs gy,

wh2bA] 48.50 = 48.5 U T,




Sy
>
lo
N
il
L
)
<
>
ol
Mo
P
filo
K
ru
>,
o

0.88 0.35
(1)
0.49 0.67
(2)
D (1) 0.51 (2) 0.28 @ (1) 0.52 (2) 0.18
® (1) 0.52 (2) 0.28 @(1) 053 (2) 0.18

® (1) 0.53 (2) 0.28

g F 2 oA A2 5 W
1

(1) 0.88 — 0.35 = 0.53
(2) 0.67 —0.49 = 0.18




|
<

ol
K
el
T
&

T

et @




& % ArkeiEol of

j=1

ot

6.




@ (1)0.11 (2) 0.27 @(1) 0.101
® (1) 0.011 (2)0.27 @ (1) 0.110

® (1) 1.01  (2)0.27

~&B

(2) 0.027

(2) 0.027

101, 1

oty —— 5 442 YERHH 0.027 0]t

——— L= (=10.001)°] 101¢ $FYT}.
(1) To00 = Topp (= 0-001) T 101 <L S4H =
e A 11000105_ A2 YR 0.101 YUt}
@ 2 o L qo01)e] 2791 5
1000 = 1000 '

27




8. HAANE st [ |t dgre 5 AR Y

TEAQ.
2254 -2354- |- ]-2654
D 2.464,2.474 @2.454, 2.554 @ 2.554,2.564
@ 2.654,2.674 ® 3.454,3.554

B

a5 A 2] (0.19] A ©f 227F 14 AU
AAA [ ]=2.35440.1 = 2.454
SRR [ |=2454+ 0.1 = 2.554




o % FolAq a5 5 A 5
ol

2] S:7pe] 8wl

]

132, a5 A 2] 2A7E s

216 818 0.236

1.654 7.064 9.174 1.8 9.09
4.112

[ 2
> = 818

S

Aas T 2 Seo] B2 2,16, 8.18, 9.09 30l sty T
a4 4 A AT 2

ojofof guch, wtetA 818 YTt

27 he] 520] gufjolmz [ ]




10. wEi= Avter Aol Hier =g 6154kg
7t 4

THe
BA7F 4183 kgoletd, Ex o] FAlE= EH kg A
=

kg

>
> HE D 1971kg

Syt 1% w9
o]-/\]

o] 7))
(L] A FA)-(ah 2] FA)
— 6.154 — 4.183 = 1.971(kg)

(£




Zrop 2416

oju
T

s

A

dHA ¥

O
)

11. o

ol
I

.

ul
KO

o] I RHLA]

L =
= =

‘ 24 2o} vt







B ghop 2 Q.

=

=

2

=

&% vls

j=1

13. o

]_
.

tet mol

iR

=y 9] ol

g
w4 o}




oju

o|J
L

@ nhgw

@ AtttelE




15. @14 @7H419] el 2 langlA] oA 2.

,,3.59km~~\»,,4,675km\

P P ~
N,

4 =

@ - @ @ T ®
T--6.986km---"

= km

>
[> ®gh: 1.279km

(@14 @74A12] A)=(@NA @72 A=) +HGNA @
7212) A2)-(@NA @71 o) Azl

= (3.59 + 4.675) — 6.986

= 8.265 — 6.986

= 1.279(km)




4 S o e A A2
R DISEE:

A A A
> = A
D<= Ve |
B
g u




A T % g Wzl 57k 4709l mge Bzhie m
A

A 2& 5 U= AL 71 4702
= 5 09 A
Fote] 4+ 2+ 1 =7(70) YUt

12| o




60°

o) Z+2 360° + 6 = 60° Y Th

IR Bz 72

5]

261:_1:1
= o 1




U

=

purl

—_

o

ok

oy ™

TH ol

oo

BT E

B s 2

B B0 %O

B S

ol ny &

760 | I

ro — O
le] —
%o+
o O
—




20. thE WL AAAGT hERE £ 52
2717 18° & uf, 7 @ 9] A71E FoHA L.
18° H
- =
O n
- |
=13 °

>
> ®EH 126°

AUt 7t w1

-
128)=180°— (18° 4 18°) = 144°
7t @)=(Zt ©=1)=360° - (144° + 90°) = 126°




